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COMMERCE ;
DSEF1 : Financial Institutions and. ¢

Time : 22 Hours

Instruction : Answer completely either in English or in Kannada.
SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)
FSNT O3RYTTETR 6 wa—a;%ﬁ@ﬁ YVBOR. T3 wﬁ—@%ﬁ QTT LIOBIND.

1. a) What is primary market ?
33, BRT BIRTITES, DOTTED ?

b) Give the meaning of Forex Market.
TIESE VIO WRTOTES DOTTETD ?

c) What is Initial Public Offer ?
ROTETWT 302, T ST 0TITED ?

d) What is financial system ?
TEITIRO 3,3R DOTTERD ?

e) Give the meaning of secondary market.
QBeod mm@% 03 PETIY, DeR.

f) Give the meaning of hire purchase.
WA ime;%ébéojo OTFITY, VeR.

g) Name any four financial institutions in India.
WOTBT O3T0R)TTTR 4 TEDTOAD ?307\;71%%{ TROA.

h) Expand SEBI and OTCI.
SEBI @035 OTClodbs), 5oA.
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SECTION -B

Answer any three questions. Each question carries four marks.
FYNS oY Terte 3 @e{i nenR LV8oR. B, @%ﬁ TR, L0BTEL.

2. Briefly explain recent trends in capital market.
WOBTOY m&&i o B8 e zﬁ@ds@ﬁﬁ@&g{ xoiagmh DOA.

3. Briefly explain problems of housing finance.
M BT xmﬁsmfs& Ro33I=moN $)30A.

4. Draw the structure of Indian financial system.
POCBTI BETORD weswﬂcpoja dzﬁéoﬁa&g{ R (238,).

5. State the functions of secondary market.
Q3e03d BIoTHEE 0% FTHOREFNTI) 39R.

6. Briefly explain the importance of forex market.
QT3S DRI FIRTITES 030 DOBLEID), #og@mﬁ NWOR.

SECTION -C

Answer any three questions. Each question carries 12 marks.
FINT CdYTomde 3 B3 Nent ¢vgo. T8 TJ1 12 Losnsh.

7. Explain the objectives and functions of stock exchange.
ReTO mmsé%oja eroci BN WY TOFNFY, QTOA.

8. Distinguish between money market and capital market.
TEITI WRTOTES 30BY WOBDY WRTITEZ 03 FRIDT 3 FYRNTIY, WICWD.

9. Explain the role of NBFCs in Indian economy.
WPTBTT S3OFTIN waesoﬁea’d :30:3@ (NBFCs)n¢ 598,333, 230

10. Explain the advantages and disadvantages of primary market.
T3, 0T FI0TIFE 030 LOBAY F0BY BTITOBRONTRY, I[OR.

11. Explain the objectives and functions of SEBI.
SEBlo® emcie?me;o WY FHODFNFTY VTOA.

(3X4=1 2)

(3x12=36)



